The United Kingdom Economy – Data Response 

(A) Over the period, the two variables have followed each other partly, as rate of GDP growth (%) has increased so has the manufacturing sector growth (%). This can be seen such as between 1996-1997 GDP growth rose from 2.6% to 3.5% while manufacturing growth rose from 0.4% to 1.3% and between 1997-1998 GDP growth fell from 3.5% to 2.6% and manufacturing growth followed suit and fell from 1.3% to 0.5%. 

Throughout the period, growth in the manufacturing sector has been less than that of GDP (2001 – GDP 2.2% while Manufacturing –2.3%). 

GDP also consistently rises throughout the period (though varying amounts each year) while manufacturing did not grow in 1999 (0%) and was shrinking in 2001 with –2.3% growth.

(B) Inflation and unemployment are said to have an inverse link, this is because when unemployment is low, the labour market is very tight and employers have to offer higher wages to attract scare labour to their firms. This increases firms’ costs so they raise their price level to compensate for this – causing cost-push inflation. 








Inflation due to low unemployment can also be demand-pull because more people are spending, hence raising consumer expenditure (component of aggregate demand which if AD starts to exceed AS this can cause demand-pull inflation (this effect is much lesser than cost-push inflation)








It is more likely to happen after several years of economic growth, the economy is growing and business confidence is high because profit margins are large and the firm is likely to be working near full capacity. This means the firms are more willing to shell out even higher wages to people because the economy is growing and it seems the economy won’t collapse so they are confident to do so, so they can get the best labour. This therefore increases the likelihood of cost-push (and demand-pull) inflation.

(C) Economic growth can be measured in long run (trend rate) and short run (actual), the trend rate of growth is the amount the productive potential of an economy increases naturally year upon year (Aggregate supply increase) whilst actual economic growth is the GDP rise each year (Aggregate demand increase). A permanent increase in the trend rate of growth is the economy now each year has a greater productive potential.

The trend rate of growth is measured by years and years of growth figures and statistical methods taken in order to calculate it, the data given is not a long enough time period in order to calculate if their has been an increase in trend.

Looking at the data, and taking the current UK trend rate of ~2.5%, it can be seen once indexing 1995 figures to 100, that actual growth slightly exceeded trend through the period.
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Although this would appear to indicate an potential increase in trend, looking at the unemployment figures and the fall from 7% to 3.2%, the growth seen here could possibly be just actual growth increase due to us not operating at our LRAS at full output/employment. It must also be noted that inflation continued to fall throughout the period and this appears, at first strange. The Phillips Curve suggests an inverse link between unemployment rate and inflation, so surely with the dramatic fall in unemployment inflation should have risen? This could indicate that in fact there has been a trend rate increase to allow this increase in employment (hence AD) without causing excessive inflation. The more likely explanation is due to the Bank of England’s independence and inflation being the main macroeconomic target that inflation will remain low no matter what. The fact unemployment has also decreased is due to the government operating on the supply side with training schemes, New Deal and furthering education levels of the economy.

Overall the data suggests an increase of 2.68% on average in GDP, which is not far above trend (~2.5%), which doesn’t give a strong suggestion the trend rate, has increased.  The data went plotted as actual percentages (rather than increase on each year) also show a clear economic cycle, that we expect of the economy around a trend rate.


[image: image2.wmf]0.00%

0.50%

1.00%

1.50%

2.00%

2.50%

3.00%

3.50%

4.00%

1

2

3

4

5

6

Trend

Actual

Average


As can be seen, although the data does partially support a trend rate increase it is not over a long enough period of time to tell and the growth being higher than trend for the majority of the period can be explained due to unemployment falling hence it being increases in actual growth as we move toward our LRAS. 

It is argued by some economists that new information technology has increased the trend rate of the UK economy. This is because the new technology has allowed for increased productivity, such as greater ease of correspondence and more accessible information etc. It is argued that the trend rate due to this in Extract A has moved the trend rate up to 3%. This figure seems too high as the average growth over the  period for the  data was 2.68% so this would indicate we year on year are falling further behind our potential growth which would surely lead to job losses not job gains (fall in  unemployment rate). If we take AD=AS and then the following year actual growth rises (on average 2.68%) on AS rises 3% we are no longer operating at AS (full output/employment) so we would experience job losses and a poor economy and considering the state of the economy is excellent (low inflation, low unemployment etc) this trend rate increase does not seem likely.

It may appear that the increase in ICT must have brought increased labour productivity however; it has not because many people now idle at work checking e-mails, websites, filtering through spam and such, which in fact may have decreased productivity.

Labour productivity, has not stormed ahead due to increases in ICT usage, and remains fairly low as indicated by current figures;
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This shows that there has been no significant increase in productivity and between 2000-2003 productivity has been low (averaging around 1%). This supposed ‘New economy’ has not been created and the ‘Labour productivity miracle hoped for a year ago’ (Extract C) has not happened. 

There is a possibility labour productivity in the future may increase, with the government setting targets for schools on exam results this has increase the level of education in the new working population, which should make them more productive. Also, new schemes such as the New Deal have certainly helped to firstly reduce unemployment but also to tackle skill shortages by training people to go into new areas (i.e. manufacturing people being trained for service sector work due to structural unemployment) This has increased occupational mobility and could be a factor to lead to furthering labour productivity and an increase in the trend rate of growth.

The merging of the tax and benefits system has given much more of an incentive to work, and more people (particularly single parents) are now willing to become active within the Labour Market. This could have led to a possible trend rate increase. 

The UK has always had very flexible labour markets, which means labour is not subject to very tight regulations and the free market is able to operate to ensure labour productivity remains at its maximum. Firms in the UK can easily hire and fire staff, and workers can switch between jobs. Flexible labour markets allow the best people for the job to be working for them and skills to be matched which allows for better Labour productivity. However, in 1998 the signing of the Maastricht treaty and fully incorporation of the Social Chapter has hampered the economies flexibility in labour by wide ranging regulation on working conditions etc. Although the Labour government has maintained better flexibility than the majority of the EU, there has been recently a lot of red tape introduced, furthering desire for positive discrimination (21st employee must be part of a minority group) has made the Labour market not as flexible as it could be. 

Extract C states that investment has be falling, while consumer spending has been rising, this has consequences for the potential for our trend rate of growth increases.

Both things are components of AD, and should therefore only affect actual growth – this is only true of consumer spending which does raise AD and actual growth however although investment does have an affect on AD its main affect is on AS. 


The UK barley spends 1.2% of GDP on R&D, which does not bode well for an increase in the trend rate of growth. Innovation allows for new technologies to be developed that reduce the real cost of supplying goods and services which leads to an outward shift of the PPF. 

It is not only this however that causes a problem, even our low amount put into R&D we still produce many ideas but these are not taken on by UK business but by foreign firms. Partially this is due to the financial institutions of the UK not being very risk taking (unlike America) and not willing to risk investment on a new idea.

Our low investment means capital (which can increase productive potential) is not being bought and used by firms, without furthering firms investment and the government providing incentives to do so then it will be very hard to increase our trend rate of growth. 

Overall, the data in the sources are over a too short period of time to give a clear indication if the UK’s trend rate has increased and also over this short period of time they appear to not be far off trend (in general) and the average is only 0.18% above trend rate. The UK also has not gained a huge boost in Labour productivity through a ‘New Economy’ and lacking investment into the UK economy does not give the indication the trend rate has increased.
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